306 EH/D (2)
1. The increasing order of acidity of the following compounds based on pKa values is
(A) BrCH,COOH (B) CICH,COOH
(C) FCH,COOH (D) HCOOH
Choose the correct answer from the options given below :
(19 (D) <(A)<(B)<(©) (2) (A)<(D)<(C)<(B)
(3) (B)<(A)<(D)<(C) @ (©<@®B)<(@D)<(A)
2. In the f9llowing table, match the reactants giveno List-I with the correct product in List-If
the reaction of hydration of alkene under acidic condi)tron. *
List-I S% List-IT ]
(Reactants) {}’ (Products)
J
HO
/\/‘\/ @
(&) q|o
B) (In- /\/’k/
O HO
@)
4
g T T
.‘\e
© ‘{’} (I11) O/{\/
a
% HO
(D) (Iv) /'\/

Choose the correct answer from the options given below :
() A)-M, ®B)-dD, (C) - 1D, (D) - IV) @) (A) - (D, (B) - (IID), (C) - (A1), (D) - (IV)
(3) (A)-adn, (B)- @), (C)-aAV), (D) - (1II) @ (A) -1, (B) - AV), () - (D, (D) - (D)

3. Which among the following is net an Analgesi_c 74 <]
(1) Morphene ;Sg) Heroin
(3) Codeine {% Ranitidine
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306 EH/D e gan%q%;

1 pmma’iasanw“f'a“”%"@“ E{ﬁ?;)n CICH,COOH

(A BrCHCO0T 4% (D) HCOOH

() FC]-12COOH . C]

ﬁﬁﬁﬂﬁﬁm@ﬁﬁﬂﬁw%ﬁ' @ 2) (A)<D)<(©)<(B)

(M (D)<(A)<(B)<(C) {](4) (C) < (B)<(D)<(A) -
¢ : g & frefafad i greft-1 3 feu o sAfiermat w61 |-

3) (Bigggﬁm;(a;-, 2 i rfere I

A A .

o s e e A —n
ke ™
(aTraTEh) O -

/\/j%/ <
(A) =9
Mol ]
M /\/!\/
g | !
(B) <] : |
-
e S ———— HO
P (111) W
C P
© o
(D) 38 (V) /k/
)
aﬁ%ﬁunqﬁﬁﬁﬁaﬁmﬂﬁ: ©)
1) (A)- (D, ®) -, (C)- D, D)- av) {](2) (A) - (I), (B) - (TID), (C) - (ID), (D) - (IV)
(3) (A)- (D, (B)- D, (C) - AV), (D) - (1) 4) (A)- (D), (B) - (IV), (C) - (D, (D) - (ID)
3. Frffiad & & S-a1 drerer 78T & 2
(1) @A ' (2)
(3) HIH (@) XEfEA
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306 EH/D (4)
4. For Sy2 reaction, the increasing order of the reactivity of the following alkyl halides is -
(A) CH3CH,CH,CH,Br
(B) CH;CH,CH(Br)CH,
(C) (CH;3);CBr
(D) (CH;),CHCH,Br
Choose the correct answer from the options given Qlow g
(1) (A)<B)<(C)<(D) /2) (A) <(C) <(B) < (D)
() (B)<(A)<(D)<(C) ‘;(4) (C) < (B) <(D) < (A)
S~

Read the following passage and answer the next five qg{esﬁons based on it.

. . P . . X .
Battery or cell converts chemical energy of the redox reaction to electrical energy. In fuel cell (a galvanic
cell), the chemical energy of combustion of fuels({ike H,, ethanol, etc. are directly converted to electrical

energy. In a fuel cell, H, and O, react to produce éf:ctricit_v, where H, gas is oxidised at anode and oxygen

is reduced at cathode and the reactions involved are

Anode reaction : H, + 20H™ — 2H,0 -?2«:_

L

Cathode reaction : O2 + 2H20 + de —)QbH“

67.2 L of‘I—I2 at STP reacts in 15 minutes.

2% N

S. The number of moles of hydrogen oxidised is :

(1) 0.33 moles (29 33.3 moles &(3) 3.0 moles (4) 1.33 moles

N\ @

6. The number of moles of electrons produced in the oxidation of 67.2 L of H, at STP 1s

(1) 2 moles (2) 4 moles (3) 1 mole (4) 6 moles

G

The quantity of electricity produced in the oxidatigh’of 67.2 L of H, at STP is

7.
(1) 96500C (2» 579000 C <3) 193000 C (4) 48250 C
3%
. ] - )
8.  If the entire current produced is used for the clectrédeposition of Silver (at.wt. 108 g mol ]) from Silver (I)

solution, the amount of silver deposited will be :

(1) 324¢g (2) 648¢g A3) 108¢g
\
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306 BE/D A T%mmwmﬁWﬁWEWW%i

4 SN2
(A) CHyCH,CHoCH2P!

(B) "CH; CHZCH(BT)CHB
(C) (CHy)3CBr

(D) (CH; ),CHCH,Br & O
‘“aﬁm‘a"‘“'ﬁgﬁm @ a<©<®<D
(1) (A)<(B)<(C)<(D) Ql) (C)<(B)<(D)<(A)
@ ®< A<D < ©) o |
Sferad : ﬁm%;mmmanﬁuﬁn syt 3 I AT y
- w@ﬁmﬁﬁmﬁaw%lwﬁamﬁéﬁﬂ@ , Hy,
LA i i e el & 1 e e, 1y 30,
U mﬁﬁﬁ . % ﬁ'{:r ﬁﬁgmaﬁaﬁﬁﬁﬁmw%aﬂt'maﬁm
e ST Y 3 1078 A F ¢, Sl Hy :
o ST P ST & SIS vt SR &
. H,+ 20H — 2H,0 + 2@
a;qﬁgamﬁ,—m 02+2H2O+4e —»40%
Wﬂ‘ﬁqt6726ﬂaﬂzlsﬁﬂzﬁaqﬁm$(?ﬁ%l
g o
5. mﬁg@m%ﬁeﬁﬂm% e
(1) 0337 (2) 3339 @ 3.0¥e (4) 1.33 91 A
<]
6. @aﬁqtmzeﬁzmz%mwﬁwﬁasamamﬁrsﬁm%
(1) 29 @ 499 (3) 1 W 4) 6W
7. qaﬁtﬁm6725ﬁﬂH2%Wﬁ3ﬂlﬁﬁﬁa?&ﬁ"qﬁT%
(1) 96500 C (2) 579000 C %)) 1930000 (4) 48250 C

8. qﬁm@awmmmﬁwa)m%a@mmm}s’ mol~1) % e Fréiqor 3 fere forar smar &
o <idr i ant : | 4 %l

(1) 3247M (2) 6487 Qi‘@) 1087

(4) 216T™
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306 EH/D (
9.

6)
tect o)
The source of electrical energy on the Apollo moori: ) ight was :
(1) Lead storage battery

(3 Ni-Cd cells ™

f) A generator set
C

P
4) H,-O, Fuel cell

A

-

Read the following passage and answer the next five qﬂystions based on it.

10.

11.

12.

13.

14,

Sc Ti V Cr Mn Fe Co Ni Cu {§n

Y Zr Nb Mo Tc Ru Rh Pd Ag @d

La Hf Ta W Re Os Ir Pt Auq-]g

In any transition series, as we move from left to right the d-orbitals are progressively filled and their
properties vary accordingly.

Ce Pr Nd Pm Sm Eu Gd Tb Dy Ho Er Tm Yb Lu

Th Pa U Np Pu Am Cm Bk Cf Es Fm Md No Lr

The above are the two series of f-block elements ifWhich the chemical properties won’t change much. The
Sf-series elements are radioactive in nature and m@ly are artificially synthesized in laboratories and thus
much is not known about their chemical propertiesﬂ

Identify the incorrect statement. @

(1) Second ionisation enthalpy of Ag is greater thdn second ionisation enthalpy of Pd.
(2) Zr and Hf shares almost identical nuclear proUies.

(3) Melting point of Mn is lower than that of Cr.
(4y Interstitial compounds are non-stoichiometricgld neither ionic nor covalent in nature.

Which of the following is the correct order of second ionisation enthalpy ?

() V>Cr>Mn (2) V<Cr<Mn (3) V<Cr>Mn (4) V>Cr<Mn
Which of the following pair of compounds exhibits same colour in aqueous solution ?

(1) FeCl,, CuCl, CQ?J) VOCl,, CuCl,

(3) VOCI,, FeCl, (4) vOCl,, MnCl,

Which metal has the highest oxidation state in the fgt row transition series ?

(1) Cr (29 Fe ©(3) Mn @ Vv

Why do the actinoids exhibit higher number of oxié;jion states than lanthanoids ?

(1) 4f orbitals are more diffused than the 5f orbit@

(2) Energy difference between 5f and 6d is less wt\t& respect to the energy difference between 4t and 5d.

o Af and 3d-
(3) Energy difference between 5f and 6d is more with respect to the energy difference between 4f and 3¢

(4) Actinoids are more reactive in nature than the lanthanoids.
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306 EH/D (7)
9. YU SEAT IS T IR St oh1 AN o
(1) e g=mge sl (2) T TR
(3) Ni-Cd sl (4) H,-0, 3 8a
frefefia aTsdT 1 afeT 3R T SITHR 0T aret diet weit & 3w |
Sc Ti V Cr Mn Fe Co Ni Cu n
Y Zr Nb Mo Te Ru Rh Pd Ag d
La Hf Ta W Re Os Ir Pt Auﬁ\o}lg
P o, 4383 e, G v e s e
Ce Pr Nd Pm Sm Eu Gd Tb Dy Ho E@Tm Yb Lu
Th Pa U Np Pu Am Cm Bk Cf Es Flde No Lr
I f-ciTeh dwal ol & G & o TaTafen Tl § SUTeT ageTd el /i | Sf-2vft % aw U
B & SR SATRIA SRS & Shiw &9 & Wo3 i Sial & ST 30 WohI 390 T e Ul oh i &
T
10.  ITo7d U Y TE=H |
(1) Ag 3t Tt ATl wedt Pd i qerdt sTrafishro wriredt & afirs et 71
) zraﬁtHfWWm@mﬁaﬁéﬁ@
(3) Mn I IEHF Cr I TeT § FHH ST ¢ |
@ mmmwﬁ?ﬁmm%%ﬁwm%aﬁxmﬁmm

EGATSF el ¢ | A

11, Frefen & & @ R s e 1w w

(1) V>Cr>Mn 2 V<Cr<Mn  <[3) V<Cr>Mn @) V>Cr<
12, FfaRad i 7 @ o gm 5 sefi oo & aam i veifa dar g 2

(1) FeCly, CuCl, (2) VOCl,, CuCl,

(3) VOCL,, FeCl, (4) VOCly, MnCl,
13. %ﬁﬁ%ﬁwg@mﬁmﬂ@aﬁmwmm%?

(1) Cr (2) Fe (X3) Mn 4) Vv

14. W@,ﬁm@ﬁwﬁmmﬂwﬁﬁmaﬁmﬁhmﬁ?
(1) 4faaaaa5fwﬁaﬁrgamﬁaﬁmﬁaﬂaaa@
(2) 4F 37T 5 3 o Tt St Y qemT i SF 3 64l o ot St ST 2|
3) 4faﬂtsd%saﬁamfm€€rgamﬁ5faﬁ16@;aﬁamimamal
(4) e H ufereriTe e, cleiTee® bl gort o srfergyfifmamefier 8 & |
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) (8)

nphor in nitrogen gas is a type of solution
Gas — Gas (2) Solid — Gas
Liquid — Gas (4) Solid - Liquid

@)
ntify the correct order of organic compounds i the following chemical reaction :

Cly. 3

Dry Ether . H,0 0

2 +Mg 2 2 = 2
CH,;MgBr g
CH;Br @)
CH,CI <
CH,
Jose the correct answer from the options given below :
®), (A), (D), (©) X2 (A), ©), (B), (D)
®), (A), (C), (D) Oy ©,®), ). )

asider the following statements regarding osmogf¢ pressure :
) Molar mass of a protein can be determined u%g osmotic pressure method.
) The osmotic pressure is proportional to the rr(glbrity.

) Reverse osmosis occurs when a pressure lat(ggr than osmotic pressure is applied to the concentrated

solution side.
) Edema occurs due to retention of water in tissue cells as a result of osmosis.

oose the correct statements with reference to osmotic pressure :
) (A), (B) and (D) only (2) (A), (B) and (C) only
) (A), (B), (C) and (D) (X4 (B), (C)and (D) only

ypour pressures of pure liquids 'A’ and 'D" at SQ‘:F are 500 mm Hg and 800 mm Hg respectively.
nary solution of 'A' and 'D’ boils at 50°C and 76'09 mm Hg pressure. The mole percentage of 'D' in

lution is : {:}

The
the

) 33.33 mole percent (X2» 66.67 mole percent
) 25.75 mole percent @2(4) 75.25 mole percent
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306 EH/D (€D
IS e S O ot o et 2 /{
(1) Ta-Na | & () -7
(3) s9-m 2};(4) 3\ -3a
16.  FrefRaae i s § s i e s Teah
7 +Mg Wwﬁ\_‘.’_ 0, 5, Lo > 2
(A) CH;MgBr
(B) CH,Br
(C) CH,Cl 8
(D) CH, <
o9 R e et @ e s }’;
(1) (®),(A), D), (C) G @) (A),(C), (®), (D)
(3) (B),(A),(C), (D) q@@@@@

17.  TORRYT 1 % "oy # Feferiad st w et
(A) m%ﬁmmaﬁmmﬁﬁ:wwmﬁwmmm%|
(B) TRTERYT T T o HHIT Sre € | |
(©) mwm&wmwﬁwwmm%awﬁmhwamﬁl
(D) w%mmmﬁﬁmﬁﬁwam%wmmgl

T 7ot 3w F e o g R
(1) %9 (A), (B) 3R (D) gm%ww®w©
(3) (A),(B),(C) R (D) ® @ ¥ (B), () 3k (D)

1 4

8. @7 ‘A’ 3 D’ F 50°C T AT G FHA: 500 mm He 3K 500 mm Hg 8T & | 50°C 3t
%araqvA’ﬁ‘D’mﬁmmmélﬁaﬂqﬁ*D‘wﬁam%.

(1) 33.33 Hiet wfawra (2) 66.67 Bt wiysrg
(3) 25.75 wreT (4) 75.25 W v
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306 EH/D (10)

19.  For the following reaction :
1
24, (9) + 7X@ 24X (9)
volume is increased to double its value by decreasing the pressure on it. If the reaction is first order wi

respect to X and second order with respect to Azdle rate of reaction will :

(1) Decrease by eight times of its initial value q
(2) Increase by eight times of its initial value R

(3) Increase by four times of its initial value {}

(4 Remain unchénged O
©
20. The total number of sigma bonds present in P,0 lglu'e :
(I) 6 2 7
3) 16 4) 17

21.  Inthe electrolysis of alumina to obtain Aluminiu@metal, the cryolite is added mainly to

(1) lower the melting point of alumina.

O

(2) dissolve the alumina in the molten cryolite. q
(3) remove the impurities of alumina.

(4) increase the electrical conductivity.

22.  Identify the order of reaction if its rate constant 1
(1) Zero order
(2) First order
(3) Second order
(4) Half order

=2x 102 s,

AR O1%

O

For a complex reaction, the order of reaction is e@al to

(1) Sum of stoichiometric coefficients in balancﬂ chemical reaction
(2) The molecularity of overall reaction EN

(3) Order of fastest step of the reaction {}

23,

(4) The molecularity of slowest step of reactiorlg
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306 EH/D (11)

19.

20,

21.

22.

23.

fmferfta srffsrar o oo

|
2, (9)+ 7 X (@) = 24X (¢

maﬁwwﬁwmmw@mmgﬁa@m%m&mﬁmx%mammaﬁr A

fadraaife A1 8, o sfufrr fir et O
(1) 3a ST 9 & 3776 THT 6 & STt 4
(2) 3o e A @ oS T ek A Sl o
(3) T VI 0 & IR AT Afere 8 St ?}

(4) Ifafid e & O
PO, & STRud T ATl il et HEAT R - ®
() 6 ) 7
@3) 16 @) 17

ﬁgﬁﬁwu@mﬁ%%qﬂ@ﬁm%ﬁga—m%ﬁ,mﬁngmm%
(1) Y & e g R FE F i) <
@) fie gu FeTse  Ygfie @ e & fore (5%
(3 g s # e H R f;’;
(4) STa-TTceRaT H qGH % forC | ®

o 20 ok = 2 10-2 s 8 A e SR T

(1) AFI

(29 TIMFHIfE O

3) = O

4) SR <]

e i s & R, affrn A @R 8% F AR |

) Wmmﬁm@w@mﬁm%m
() Ty SR <t Vet ®)

(3) afrfra 3 g e =0 hif <]

(4) mﬁmaﬁwﬁiﬁmﬁawaﬁmﬁaﬁ
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306 EH/D (11)

19.

20,

21.

22.

23.
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306 EH/D (12)

24,

25.

26.

2.

28.

A molecule X associates in a given solvent as per the following equation :

X=(X), )
For a given concentration of X, the van't Hofﬂit:ﬁctor was found to be 0.80 and the fraction of asso

molecules was 0.3. The correct value o_f ‘n’is :{’I

(1) 2 52 3

3 1 W@ s

The oxidation number of Co in complex [Co(HSCHchZNsz]2(804)3 is
(1) 3 < @ 4

3 2 ‘ 4 5

The correct structure of dipeptide, Gly-Ala (glycdl alanine) is
(1) H,N-CH,-CO-NH-CH(CH;) - COQB{
(2) HOOC - CH, — NH - CO — CH(CHj) — N}
(3) HOOC —CH(CH;) - NH - CO —-CH, - Nﬁq
(4) H,N-CH(CH;) - CO-NH-CH, - COQIJI

The total number of ions produced from the corgglex [Cr(NH;)4]Cl; in aqueous solution will be

(1) 2 ~@ 3
3) 4 @ 5
Arrange the following in decreasing ofder of m@_j]aer of molecules contained in :
(A) 16gofO, (3
<
(B) 16 gofCO, o
(=
(C) 16 gofCO ’{’!1'
(D) 16 gofH, C]

Choose the correct order from the options giverf-@alow :
(1) (A), (B), (C), (D) <l

(2) (D), (©), (A), (B)

(3) (B),(A), (D), (C)

4 (©), (B), (D), (A)
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306 EH/D (13)

24.

25.

26.

27.

28.

e ] X forell o e fereiraeh # fetforfigd aftercor & 17aR g€ BT €

X = (X),

) .
X 1 & 7% @izl o fore, dive €1 10k 0.80 WA 13y A Heifera AU T ST 0.3 o
(1 2 R
(3) | NEONE
e [Co(H,NCH,CH,NH,);1,(S0,); ® Co a?r.‘%w‘mw e 8
-
(1 3 Q) @ 4
(3 2 J @ s
TRURIEE, Gly-Ala (W3R Teifam) it Tdt a7 8

(1) H,N - CH, - CO - NH - CH(CH;) - COQH)
(2) HOOC - CH, -~ NH - CO - CH(CHj) - N@
(3) HOOC — CH(CH;) - NH - CO ~ CH, - NIJIQ
(4) H,N - CH(CH;) - CO - NH - CH, - COCl}

aﬁmﬁwﬁﬁﬁ[Cr(Nri3)6]c13amuq§ﬁ§am St |
() 2 (] (2) 3

(3) 4 4) 5
mﬁwﬁwﬁm%mwﬁm@mﬁ:

(A) 161M O, O

(B) 16TM CO, <

(C) 163M CO o

(D) 167 H, g

et frg wr fereped o @ Wel 769 T - )

(1) (A),(®B),(C), (D) g

2) (D), (C),(A), (B)
(3) (B),(A), (D), (©
(4 (C),(B), (D) (A)

- SPACE FOR ROUGH WORK / T% &4 % forg g
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306 EH/D (14)

29.

30.

31.

32,

33.

34.

The Cu metal crystallises into fcc lattice with a unit cell edge length of 361 pm. The radius of Cu atom is :

(1) 127 pm (2) 181 pm
(3) 157 pm () (4) 108 pm

| | O
If 75% of a first order reaction gets complet;:ﬂ in 32 minutes, time taken for 50% completion of
this reaction is )

oy

(1) 16 minutes ?} (2) 78 minutes
(3) 8 minutes \"] (4) 4 minutes

Which of the following compounds will be repellct% when placed in an external magnetic field ?
(1) Na,[CuCl4] (2) Na,[CdCl,]

(33 K4[Fe(CN)¢] (4) K;[Fe(CN)g]

_The spin only magnetic moment of HexacyanidoEljnganate(II) ion is BM.
(1) 5.90 <ﬂ(Z) 1.73

(3) 4.90 w8 (4) 387

The correct order of increasing boiling points of I% following compounds is :
Pentan-1-ol, n-Butane, Pentanal, Ethoxyethane ®)
(1) Ethoxyethane, Pentanal, n-Butane, Pentan-1 Eg]
(2) Pentanal, n-Butane, Ethoxyethane, Pentan-1-ol
(3) n-Butane, Pentanal, Ethoxyethane, Pentan-1-ol
(4) n-Butane, Ethoxyethane, Pentanal, Pentan-l(_a

O

In the following reaction, identify the product D.
Zn dust CH,Cl +anhys AICI
CgHs — OH > A s >
A
() KyCr0; +H,80, | H,S0, +HNO,

@ ? > D

(1) o-Nitrobenzoic acid d

(2) p-Nitrobenzoic acid
(3) o,p-Dinitrobenzoic acid

(4) m-Nitrobenzoic acid

SPACE FOR ROUGH WORK / I% @ & fote sz
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29.

30.

31.

32.

33.

34.

Cu ¥ITq fec STTeieh & Teheh HITBH F 361 o PR i 3 e fieeetiga 2 &
(1) 127pm A (2) 181 pm

(3) 157pm Q (4) 108 pm
aﬁﬁmmaﬁﬁaﬁqﬁm?ﬂ%%,32%%@@%%,%%%%50%@31%*%@%

a7 3

(1) 16 A @ i

(3) sfre @ 4) 4fme

et e & @ ST @ o i & F-ar A sfawitd g 2

(1) Na,[CuCl,] (2) Na,[CdCl,]

(3) K4[Fe(CN)4] (4) K;[Fe(CN)]
TRITETAASIETE(11) AT T T=shUT-AT gaﬁ%nqﬁ BM 2|
(1) 5.90 A (2 173

(3) 4.90 o (4) 387

firmfrfaa it 3 sed 5T FTHTE 1 HEl R

-1 -ifer, n-s, T, TolTeRiTeEe o
(1) AT, G, n-sqeH, 4eH-1-377d ®

(2) o, 0=, CUEETe, §- 137 <

() 0=, T, TGO, 4. -1

(4) -, T, T, e 1-3Afet

Freafeafiae st , Seara D it TE=T HRT -

Zn =0t CH,Cl + fi9e Alcl,
CeHls—OH 7 A < *P
?}9 K2Cr207+l-12804ﬁ\.c H,80, +HNo,

(1) o-ATEga=sirga <t ¢

@ p- i &

(3) o,p-mmﬁm <J

(4) m-"ﬁﬁaﬁhﬁm

SPACE FOR ROUGH WORK / T% &t o fora smmg
collegedunia:
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306 EH/D
35. The gold number range of some of the lyophilic colloids is given below :
A:0.005-0.01,B:0.15-0.25,C:0.04-1.0and D : 15 -25.
Which among these can be used as a better protective colloid ? :2
I A () B y
3) C 4 D 5
P
36. Reaction of aniline with conc. HNO, and conc. H,SO, at 298 K will produce 47% of g
(1) p-Nitroaniline ®
<

(2) o-Nitroaniline
(3) m-Nitroaniline
(4) 2,4-Dinitroaniline

37. What will be increasing order of basic strength of the following compounds ? -

C,H{NH,, (C,H;),NH, (C,Hs);N, CcHsNH, 8

(1) C,HsNH, < (C,Hg),NH < (CHg)3N < CgHsNH, q

(2) CgHsNH, < C,HgNH, < (CHg);N < (C,Hs),NH E,f

(3) (C,Hg)3N < (C,Hg),NH < C¢HsNH, < C,HsNH, 2':"

(4) (C,H5),NH < (C,H4)3N < C,HsNH, < CgHsNH, ®

38. Which of the following compounds will give Hell-Volhard-Zelinsky reaction ? ‘<f
(1) R-CH,-COOH (2) R;C-CHO
(3) R,CO (4) H-COOH

D)

39. Arrange the following acids in increasing order of their acidic strengths : j

HCOOH, FCH,COOH, NO,CH,COOH, CICH,COOH <

(1) HCOOH < FCH,COOH < NO,CH,COOH < CICH,COOH 58

(2) HCOOH < NO,CH,COOH < CICH,COOH < FCH,COOH <

(3) NO,CH,COOH < HCOOH < CICH,COOH < FCH,COOH (g

<

HCOOH < CICH,COOH < FCH,COOH < NO,CH,COOH

SPACE FOR ROUGH WORK / % & & fotu srig
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3s. TAAE Frersst i
?fooos ﬁﬁﬁﬂ@m?ﬁmﬂ%a"fﬂéﬂ:
gqﬁ@, —0.01,B:0.15-0.25,C:0.04- 1.5 D : 15 _ 25
%ﬂmméﬁtwm%ﬁ%ﬁmmaﬁ%?

1 A
3 C @ @B
(J 4 D
36. Ul i 208 K WA HNO, 31 a1 H,S0,, 3 are s, free 47% Ieared el 7
(1) p-AEZfe=
(2) o-ATEZNfAAA
(3) m-AEEEAAA Q
(4) 2,4-STEATEZIHA Si

vy, Freafefie A i e iR g A 22
C,H,NH,, (C,Hs)NH, (CHg)sN, Céli[sNHz

(1) C,HSNH, < (CiHg);NH < (CH5)sN @ICeHNH:

(2) CgHgNH, < CoHsNHy < (CHs):N <4&,Hy),NH

(3) (C,Hs)3N < (C,Hs),NH < CgHsNHp = C,HsNH,

4) (C2H5)2NH < (C,Hs)N < C,HgNH, < CHsNH,
38, fmfafEd 3 & e A Fer-AreTere-Sic 7 Mo
(1) R—CHy—COOH ; (2) RyC-CHO
=) 4 H - COOH
(3) R,CO -2
o
3 .
39 Wm@ﬁmﬁ%aﬁgm% L :
. HCOOH FCH,COOH, NO,CH,CO0B) CICH,COOH
HCOOH < FCH,COOH < NOZCHzcodH < CICH,COOH
b OH < CICH,COOH < FCH,COOH

HE< N02CH2CO
COOH < FCH,COOH

H,COOH

(2) HCOO
COOH < NOXC

gcollegedunias
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40. In the following compounds, what is the incrcasie—g) order of their reactivity towards nucleophilic addition
reactions ? O

Benzaldehyde, p-Tolualdehyde, p-Nitrobenzaldehyde, Acetophenone
(1) Benzaldehyde < p-Tolualdehyde < p-Nitroba\nzaldehyde < Acetophenone
Q
(2) Acetophenone < Benzaldehyde < p-Tolualq:c}hyde< p-Nitrobenzaldehyde

(3) Acetophenone < p-Tolualdehyde < Bcnzaid’e:ﬂyde < p-Nitrobcnzaldchyde

(4) Benzaldehyde < Acetophenone < p-Tolual@]1yde< p-Nitrobenzaldehydc

41. The Gatterman-Koch reaction is used in the iﬁustrial preparation of benzaldehyde. The electrophile

involved in this reaction is
(2) HCl+CO, + anhydrous AlICly

(1) co"
(3) HCO™ (4) CO + anhydrous AICl;
42. Formaldehyde undergoes Cannizzaro reaction bedause
(A) It has alpha-hydrogen atom. <]
32
=)

(B) It does not have alpha-hydrogen atom.

(C) It does not undergo self-oxidation and reductign on heating with concentrated alkali.

(D) Itundergo self-oxidation and reduction on h@ng with concentrated alkali.

given bdlow :
(2) (A) and (C) only
(4) (A)and (D) only

Choose the correct answer from the options
(1) (B)and (D) only
(3) (B)and(C) only

43. In the reaction, (CI—I3)3C -~ 0-CHy+HI— Products
CH,OH and (CHy);CI are the products and not OH%I and (CH,),C — OH. It is because,
(A) instep 2 of the reaction the departure of leav ﬁ group (HO — CH,) creates less stable carbocation.
i

(B) in step 2 of the reaction the departure of leaving group (HO — CHj) creates more stable carbocation.

(C) the reaction follows Sy ! mechanism.

Ox%

(D) the reaction follows Sy2 mechanism.
low :

(2) (B)and (C) only
(4) (A)and (C) only

Choose the correct answer from the options given
(1) (B) and (D) only
(3) (A)and (D) only

L@

SPACE FOR ROUGH WORK / T &4 < fee srg
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4. mﬁ-ﬁ@aﬁmwmﬁhﬁsﬁ%aﬂmmﬁmw%iwmﬁm
TSR & I
¢
(1) co* ) () HCl+Co,+fsia AlCl,
(3) HCO" | (4) CO + i AIC,

£, wiifeeerse HRmRY i st & Fifs
(A) 39 UTHT-ERgo TR BRIR L ()
(B) i tewagA T e () |
©) mwm%mnﬁmﬁwaaﬁmﬁ%meﬂrwqﬁmﬁh
(D) ﬁmw%wnﬁmwaﬁmﬁ%ﬁﬂtmm@

ir
oy foq e Pt 8 & W SR - &
(1) ¥« (B) 3 (D) B @ FEAIEO)
(3) ¥ (B) 3 (C) Q@ e (A) 3 (D)
43, SRR (CH;);C - O — CHy + HI = S

cl3aReaf® CH31(§j’;I(CH3)3C—OH | T AT AR R
M CEINC| m@ﬁg(m— CH,) % Trft Fralicher S g |
ik (HO - CH,) it S FTatehera s |
i

% CH,OH 3T (CHa)3
(A) s e 2 8
(B) aﬁr&m%wzﬁmﬁww -
mﬁ%msmfmrﬁﬁlaﬁ%l tj:}_

=2

() M
(D) %WSNZWﬁ%l iji
- . ®
4 ey et 4 T J @ wa@)RE)
(1) ¥ (B) 3 (D) (@) 3F (A) 3T (C)

(3) *ad (A) 3 (D)
s roRmoUGH WORK /T E R

‘-—@w“eged”"ia@
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44.

45.

46.

Aniline does not undergo Friedel-Crafts reaction because

(A) It forms salt with the Lewis acid catalyst, AICl5.
(B) Nitrogen of aniline acquires negative charge. O

(C) Nitrogen of aniline acquires positive charge.

(D) Nitrogen acts as a strong deactivating group in the further reaction.

Choose the correct answer from the options given beloi&g:
(1) (A), (B) and (D) only O
(2) (A), (B)and (C) only ®
(3) (A), (C) and (D) only <]

(4) (B),(C)and (D) only

O

Although chlorine is an electron withdrawing group( yet it is ortho- and para-directing in electrophilic

aromatic substitution reaction because q

(A) Chlorine withdraws electrons through inductive effect.

(B) Chlorine destabilises the intermediate carbocation{f(%nned during electrophilic substitution.

(C) Chlorine accbpts electrons through resonance. @
(D) Chlorine releases electrons through resonance. - q
Choose the correct answer from the options given below :
(1) (A), (B) and (D) only
(23 (A), (B) and (C) only
(3) (A),(C) and (D) only
(4) (B), (C) and (D) only

In Etard reaction, the final product is

(1) Aromatic aldehyde

AN 10233 'AN OO,

(2) Aromatic chloride
(3) Aromatic amine

(4) Aromatic alcohol

SPACE FOR ROUGH WORK / T &Td & fru smmg
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s, Ul shReshraze st 7 awtar § | s R

(A) T8 T 5 & ST Fv ST e g ot AIC 3 e o o o A €
(B) Qﬁ?ﬁ?mmﬁmmaﬂéﬂmmml

(C) ATl T AT eFTe ST T e 1

(D) RIS ST B el AT i o s b g 5 o T €

13 g e e 8 & W IO ”i
(1) ¥4 (A), (B) 37T (D) ;
(2) ¥4 (A), (B) 3R (C)
(3) e (A), (C) (D)
(4) ¥ (B), (C) ¥ (D) ®
45, mﬁa@ﬂq@g@ﬁfﬁmmwm@%ﬁmﬁwﬁm Ao e srffmar 7 -

afyc - Fsfira &, Fifs 0
(A) FALH Sy T 3 ATe A geag { <ht aTe faehTeTan (aawmn;m ,

7 (Y weaadt FEiher FETR |
(B) ﬁﬂ?ﬁmﬁgﬁwwm:m%ﬂ;%}%]

PO

©) a@maﬂa%mﬁ@ ) .
(D) Wﬁm%mﬁﬁﬁﬁaﬁwﬁﬂw
:ﬁ%ﬁqvqﬁﬁﬁﬂmﬁwgﬁ:
(1) Fad (A), (B) 3 (D)
(2) et (A), (B) I (©)

]
/

—
R

(3) ¥ (A), (O) D) %j
(4) ¥ae (B), (€)M D) °

46. gagamﬁmﬁ,aﬁmw% ‘g
(1) i YfesEs @
() AR RS <
(3) e ol
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47.

48.

(22)
Match List-I with List-II : : :
List-1 ‘(List-ll
(A) Amino acids linked in a specific I ‘.i?rimary structure of proteins
sequence
(B) Regular folding of a specific sequence |(II) (iSecondary structure of proteins
of amino acids due to H-bonding vd
(C) Fibrous proteins (I11) Quaternary structure of proteins
(D) Spatial arrangement of two or more (IV) Tertiary structure of proteins
polypeptide chains

Choose the correct answer from the options given belpw :

1) (A)- @, B)- D, ©-am,®)-av)
.'_’r’:
2) (A)-(), (B)- 11D, (C)- D), (D)-1V) .:
[
() (A)-O.(B)- (D, (©-AV), (®)-a)
(4 (A)- (1), (B) - (IV), (C) - (D), (D) - (1)) )
3
<
Match List-I with List-II : -
List-I List-11I
(A) Tollen's reagent (I) Rochelle salt
(B) Jones reagent (1)  Conc. H(;_!:and ZnCl,
D
(C) Lucas reagent (11I) Ammonijeil_ffal silver nitrate
(D) Fehling solution (Iv) Chromiu'iﬁftrioxide-sulphuric acid
.J.' 5

(1y (A)- D), (B)-(IV),(C)- D, (D)- Y
@2) (A)- V), (B)-(I), () - @, (D)- "y
(3) (A)- (D), (B)- V), (C)- (D), (D) - (111)
4) (A)- D), (B) -1, (C)- V), (D)- (1)

Choose the correct answer from the options given bélow :

®)

“f.]
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47, FE-1 AR FE-11 =7 e =it ()
-1 —
(A u fafe s1gen § 3 Wi st 1) S s i S
~ ;ﬁ;&ﬁﬁm%@mwm (an S A fedas we
(©) WrRRAEH :’_,; (1) SR bt =rgeeh HeaT
(D) ﬁmmmmﬁﬁﬁﬁq‘%@ (V) S ot geftash § |
e fre e fereeat & & Wt ST “‘5

(1) (A)- @), (B) - (), (C) - (D, (D) - V)
2) (A)- @, (B)- (1), (C) - (ID), (D) - AV)
3) (A)- D, (B)- (), (C) - AV), (D) - (1D
@ (A)- D), B)-AV), ©)- D, @) -aD -~

| 3 <
48. 'H;d}-l R gEl-1I <t foreT L e
-1 tﬁﬁ-ll
| o e
A a‘ﬁ:ﬁ?ﬁﬁ? _(_I)._.—-——u:r-———
W (ny @TAHCI M ZnCly
=
W (111) s oA
© = . (1v) wIEEE STETEATES- ARt 3T
(D) Fefei e

D :I

» @& - @, ® - o m)(;)D)) (in <.
(©)- @ 07 0

IV) (B) (Ir[)o o
e (B)-(IV), ©) -, D)~ (D} 1}
™

N
@) (A)- (111), ®

w@ma‘mh
SPA

b
~ —

L
' gcollegedunlag
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49, Match List-I with List-II :

List-1 List-II ()
(A) Swarts Reaction @M C6H5N];[2:i+ NaNO, + HX + Cu,X, —> CgHgX + N,
(B) Finkelstein reaction (I) 2RX+ ZTI:I_fa —> R-R+2NaX
(C) Sandmeyer’s reaction (I RX+ A%PI‘}—) R-F+AgX
(D) Wourtz reaction (IV) RX+ Néll——> R —I+NaX

Choose the correct answer from the options given below :
(1) (A)- @, (B)-dD, (C) - I, (D) - AV)

@) (A)- (D), (B) - (1), (C) - D, (D) - AV) O

3) (A) - (D, (B) - (), (C) - (IV), (D) - (1) Q

@ (A)- (D, B)- AV, ©-O,®-a <

-Q
-
dhListXI: o
50. Match List-I with List-1I : 2
List-I List-IT @) .
(Biomolecule) (F unction{ Diseases)
K) Vitamin A @ Mcnstrual“lcycle

(B) Thiamine (I)  Xerophthalmia

r—-__-__-__.___ " = o .
(©) Glucocorticoids (II)  Beri-Ber

I
(IV)  Addison’s disease
L)

(D) Estradiol

the options given béﬂow :
Choose the correct answer from p g e

(1) (A)-{I), (B)- @, (C) - (1, (D) - (IV) ?,\
2) (A)-(D,(B)- (1, (C) - (M, (D) - AV) \,;‘)
3) (A)- D, (B) - (1), (C) - (IV), (D) - O} &)

@ (A)- D, (B)- (D, ©-V)®): o
SPACE FOR ROUGH WORK / T =rd o fore stz
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g9, Tt ST 1 FreTr vt

30.

uﬁf-l

TE-11
(A) i e () CgHgNH, +NaNO, + HX + CuyX, —> CeHsX + N,
(B)  Thhereere arffsra (I) 2RX+2Na—> R-R+2NaX
€ Fehw F i (Im) %()X+AgF—>R F+AgX
(D) =t Al

Iv) RT(+Na1 —> R-1+NaX
A feg e et o & et e &
UHMﬂMEﬂH@%MﬂW@%
@ &) - O, ®) - @, (C) - (), () - ")
® A)-,®)- ), ©-av), o) - of)]

(@) (A)- ), (B) - (1), (C) - (0, (D) - (1m)

O
T nm frema. O
a3 ™ () |
EFE%E:*“‘*ﬁﬁﬁﬁg_“*m it
Bﬁ%%__hqfhh‘h@‘_ﬁw et
© <E=fHre (D) Sh-3%
(D)  TRTeTzsTE ) (V) Afeam

twA>mnmamma)mam
()m<mm)mnmaum(

6) (4)- )= (1. ) (0,©)-av), ©)-

)m(mm)mumawm)@
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